DRWG NO./PART NO. IT™M# QTY PART#H DESCRIPTION MATERIAL
581830 1|2 1902594 TOP STOP, 944 DOOR /P
c |2 902592 KEEPER,LOCKS & STOPS /P
3 |18 |302845 SRW,SELF DRILL,1/4-14X7/81CLIMASEAL
4 |6 6295033 0/16-18 WHIZLOCK NUT /P
S |2 902960 3/16 X 2 COTTER PIN /P
6 |4 502961 BOLT,TRACK,5/16-18 X 3/4" |/P
/ |2 626037 BOLT,CARR,S/16-18 X 3/4" |/P
8 |l 506604 LABEL, WARNING, GUIDE
9 |2 |306613 WASHER,STL,1.335X1.873X12GAZN
10 |2 [3502882 BOLT,CARR,1/4-20X 1/2,18-8|SS
11 |2 302910 NUT,WZLK,1/4-20 ZN

944 Hardware Package, Steel Frame
This package contains fasteners and hardware used to install a
model 944 into a steel framed opening.

I'RAC-RITE DOOR, INC.

814 WILBURN ROAD SUN PRAIRIE, WI 53590

Wi
e IARDWARE PACKAGE METAL 944

TOIeanCES TRAC RITE DOOR, INC. RESERVES PROPRIETARY RIGHTS TO THIS DRAWING AND THE
D UPDATED ECN _ 22'] 8 DHA 02/1 O/Og unleSS O‘ther‘wise DATA SHOWN THEREON. DRAWING AND/OR DATA ARE CONFIDENTIAL AND ARE NOT
SpeciFied: TO BE USED OR REPRODUCED WITHOUT WRITTEN CONSENT OF TRAC—RITE DOOR, INC.
C | UPDATED ECN — 1961 JsB109,/71,/07 o oo PFo040d/05 [ NETAL
B | ADDED LINE 10&11—ECN 1930 |JSB 08;06;07 oo B T | GE (ORI O PARTG
A | UPDATED ECN 1335 JSB|12/07 /04 x= * 060 ’
REV DESCRIPTION BY DATE aNGLES 20 % 1 =1 AP 5 8 1 8 30




